"

L Ab EAEFREREE, (Z100) 2

Ex X [ om cm 1 mm
(1] 9.3 @ 1.2
SO , o 8]
9 64 @ 5 em 6 num
# B m m 1 cm
@ e (9 2%
. 3 T
0 80 @ 4 m 7(} cm
nE H# km km 1 m
9 3.125 @ 1.4
(6] 858 ® 6 km 750'm
ABY m—in, M. (122071230 C-5)
1. S6m+723me= o m | 2 2345km + 6.715 km + 4 560 m
I Ye 1

e

1 !
D8 —pem= . om b4 3kmiS - 3
] | % Skm S0 m = 625 — l_-'i- km

e LT

T m

ssLIVEWORKSHEETS



ooty
S Db JEUTRIAR (ko) RITALSE (9)e (1310

. g
7 1= kg = eeee——
EUSY L PRSI 2 2. 2% &

3, 165D = BEROLA S H 4 037kg=———8

1ED RRTR.

“F | @F ik N
(42 | Uhg) (48) | (M)
0 0z @ |4 257 250 &
@ s © s K200 %
O 127504 @ 9T 700 K%
HF) m—m, B—R,
1. 8.425 kg + 26 kg 2. 1kg200g+ 3875 g+ 0.75 ke
=—.—.—.—-——kg :_.______g
: I . :
3. 14"2‘ kg—fv‘ﬁ!a kg 4, 823[\’;—-3% kg—:kg Sm]g
="'""-"‘_“'—'_—‘——kg =_'-—"'—-———-_g

oaLIVEWORKSHEETS



1. T:' Bl e e Y
3. 22851 = £

__mt

A1) BRTER.

T = k. %.ﬂ-
2. 245 =
4, 7 7F 650 2H = %4t
(o)

[ 1)
2]
3]

625 m{
1 500 mf
4 £ 900 mf
0Ih H—5. (BZ0/a30
/ 2. 256+ 1485 mf +525 /¢

W)

1 g€ ngls

e

3, N2{-16£325m/!

i

£

e

mf

—

1
4. frg* €~275¢~ 400 mi

mf

oaLIVEWORKSHEETS



‘MY EHIERKE R,

1., VLR S B G 7
(RUNA 9.2 4 =9 200 mfé
Ll B 85m=8500cm

C 705kg=7500g

D 275 km =27 5% m

2 3% km + -1-% km + I.—g— km =
CE A BR625m
B B8/5m
C 9625 m
D 9875 m

3. 70,1 kg — 55:525 kg — kg =
@3 A 5575¢

B 6575¢g

C 13575g

D 14575g

4, 16x J% f=
Cr) A 45 mf
B 54mf

C 45000 mf

D 54 000 mf

5. 4% km + 96 =
@9 2 504 B 500m
C 5000 m D 50000 m

& N kg - 55 kg = 14 kg =
SH A 3600 g

B 3”{‘“5

C 4 000 ¢

D 4800 g

20

7.y Fapo R 0

BHNA 65 €+ 1000 = 0650
8B 10 x 0,45 kg = 4500 ¢

i
. C 752 km+ | 00D = 752 m
D hoxO0MMm= 3 800 cm

g —AERTHRERTke FEAde

WEEFFARRGEREL S !
A 6175¢g
B 6275
C 6925 ¢g
D 7275g

9, WERT 3ME 15¢ k. ff
(o) S ERT 300 mé AR LS,
AU et Bl R AKE SR 12 R SR

A AR $ b gy
A 280
B 120
C 350
D 380

10, S IRFRIEE L1 7325k, 40
B0 SABERDL) fult s EM
L AHRT S % m G985

36625

7325

36 625

73 250

onw>

toLIVEWORKSHEETS



